PROFESSIONAL EXAMINATION BOARD

Combined Group-4 Recruitment Test : 2016

19th December 2016, 09:00 AM
Topic:- General Knowledge

1)

Question Stimulus :-

Lee Hsien Loong is the present Prime Minister of —/ ot Ry ?fT o 9 & frg =1 & ada
wUT w52

South Korea / Gf&01 Sif¥ar

Philippines / ftreiiti

Thailand / 4TAS

None of these / E_FI'Ef | aﬁ% T-Iﬁ

Correct Answer :-None of these / E:I'Ef I ﬁé T-I'E»‘:T

2)

Question Stimulus :-
The Malwa Plateau lies to the north of -/ AT U8R 19 & ¥ foud 3= fean & Ry« g2
Vindhya Range / fa=amera udd §@en

Satpura Range / ST Udd §adl
Jhabua Hills / T3 Udd

Bundelkhand Plateau/ §<AEUS & USR
Correct Answer :-Vindhya Range / fa=araa uda URER ]
3)

Question Stimulus :-

The Karera Wildlife Sanctuary was formed to protect which of the following bird species? /

BRI TSI RGBT RITGHT 59 H F fobg ysirfa & uait & waor & fog o1 it o2
Indian Paradise Flycatcher / gURTS

Great Indian Bustard I'\‘ﬁﬁﬁfﬁﬂﬂ

Bulbul / dddd
Indian Roller / Tid® o g&it

Correct Answer :-Great Indian Bustard IW ﬁlﬁ'qu

4)



Question Stimulus :-

Which of the following kind of soil is generally found in Southern Bundelkhand region? /

<féoft gReavs & # wyRve: Fafiafaa & @ e yor 9t i urft el 22
« Red Soil / a1t fAgt
« Black Soil / et firgt
« Alluvial Soil / Telg firgt

 Laterite Soil /ﬁ%ﬂé&' ﬁl’gpf
Correct Answer :-Black Soil / ®Tat ﬁl?f
)
Question Stimulus :-

When did Madhya Pradesh introduce Gender Budgeting? / HY SR A HauyH T emenfya

qoIC BT UKIAIBR0T Hd fhar?
« 2005
e 2006
e 2007
« 2008
Correct Answer :-2007
6)
Question Stimulus :-

What is the minimum age for being an applicant under the Mukhyamantri Yuva Swarozgar

Yojana? | G&IHA gaT WRITAR o1 # 3Tde® g1 @1 gdd 3y fha-t 32
e 18
e 20
e 21
e 23
Correct Answer :-18
7
Question Stimulus :-

Surya Kiran is the joint military exerc:ise between India and -/ Wﬁmﬁﬁﬁ'ﬁﬁr@?{ﬁ
¥ 5T ¢x1 & Ty~ g fovor »Amme Sygea 9= Sy fear?

« Bangladesh / ISR



¢ Nepal | uTE

« SriLanka / i @1

« Myanmar / ®IHR
Correct Answer :-Nepal | AaTd
8)
Question Stimulus :-

When is the World Tsunami Awareness Day celebrated? / fa¥ ATt SRl feaw oq
HATAT SITCT 52

 November 3/ 1dHIR 3
 November 4 /- dqHR 4
e November 5/dqHEY 5
 November 6 / Td+IX 6
Correct Answer :-November 5 / &R §
9)
Question Stimulus :-

Recently BHEL inaugurated a .................. MW Coal based Thermal Power Plant Project in

Seoni. /BTG A AT ARG H ..o AMETE B P YT ardig Sef |
TR &1 JURT fHar |

* 600

e 700

« 800

« 900
Correct Answer :-600
10)
Question Stimulus :-

On which of the following river’s bank is the Simhastha Kumbha Mela held? frafafeada
e 7t & ae W Rigw (w1 A« &1 o= f6ar smar 82

e Chambal / 9+
o Shipra / f&mr

« Narmada / THgr
« Parbati / qTdelt



Correct Answer :-Shipra / f&um
11)
Question Stimulus :-

Which of the following districts of Madhya Pradesh borders both Maharashtra and
Chhattisgarh state? / Fraff@a & & weg yd=r &1 o149 41 foren #eRTY 3R SRATE Sl Il
AT RRGE 2

« Dindori / fESRY

« Balaghat / dTdTUIC

« Seoni / Ryait

e Anuppur / 3-JUYR
Correct Answer :-Balaghat / dTAITUIC
12)

Question Stimulus :-

What is the Sendai Framework related to: /'\ﬁ'?ﬂﬁ PHaS fPaw T %:
o Economic Integration of Asia / Eﬁl’fﬂ &1 fa~ig Qﬂﬁﬂﬂ'UT a
* Protection of the Coral Reefs /H?f L4 ilE'Fﬁ L4 qR&n q
« Disaster Risk Reduction /3TUgT SIGH # HH! @4 |
¢ None of these lgﬂﬁﬁﬂﬁiqﬁ
Correct Answer :-Disaster Risk Reduction /3Tdc¢l T A s am A

13)

Question Stimulus :-

MGK Menon who had recently passed away was a renowned . IEH.\‘:ﬁ.%. A9 o
Fadiddgas e, twfawma_ ¥

. ScientistlaSITﬁE?

e Singer /TA®

« Author | A®

« Politician / TSl
Correct Answer :-Scientist Ia'ﬂ'lﬁﬁ?
14)

Question Stimulus :-



How many states will utilize the Urja Ganga pipeline launched recently? / gTcl B H UR™ It
T UTSUETS- &1 IUANT foha= vreul gy far smemm?

e 3

e 4

5

e 6
Correct Answer :-5
15)
Question Stimulus :-

In which of the following places is the Chandni Thermal Power Plant situated? | fFrafafaa o

A P & RIM W dig- a9 fagaa o Rud g2
e Burhanpur (City) / gRETYR (RMER)
* Nepanagar/ IR
« Khandwa / @sdl
« Mandsaur / HgER
Correct Answer :-Nepanagar / IR
16)
Question Stimulus :-

Madhya Pradesh is the ............... state in India to approve set up of a Happiness Ministry. /

ST YR GRIGTA! HATT BT RITYAT BT SFHIGT & aTAT R BT ..o, TR
« First/ UYH
« Second / fgdig
e Third / Jdid
« Fourth / ag¥
Correct Answer :-First / UY4H

17)

Question Stimulus :-

Which Indian Bank is the first to issue Masala Bonds? /ﬁ'ﬁﬁ'@ﬁ T A fog yRd aﬁf 3
JAYYH HITAT 9IS BT UR™ fHar?

« ICICI Bank/3(Ts. 3t 3ms. ). 3ng. d&
« SBI/ YRdIg W< 35



« Axis Bank/faqd §&
e HDFC Bank/Ta.Sl UG .dF
Correct Answer :-HDFC Bank/Ug.31.0% H o

Topic:- General English
1))

Question Stimulus :-

DIRECTIONS: A sentence with an underlined word is given below. Find the Word which is most similar in
meaning to the underlined word.

Public ignorance about the disease is still a cause of concern.

Knowledge

Understanding

e Awareness

e Unawareness
Correct Answer :-Unawareness
2)
Question Stimulus :-
Fill in the blank with the correct set of prepositions.
The temperature is expected  drop __ ten degrees  zero tonight.

e of, to, above

e for, of, below

e to, to ,below

e by, of, below
Correct Answer :-to, to ,below
3)
Question Stimulus :-
Once there lived a blind man in a small town. He always carried a lighted lamp in his hand whenever he went
out at night. On one dark night he was going with his lighted lamp in his hand. A group of men were passing
that way. They saw the blind man and made fun of him. They said, 'O Blind man why do you carry the lighted
lamp when you are blind and cannot see anything?” The blind man politely said, "This lamp is not for me, but
for you people who have eyes. You may not see a blind man coming and push him. They felt ashamed and
begged pardon.
What do you think would be the moral of the given extract?

e The one-eyed person is a beauty in the country of the blind.

e Better be one-eyed than quite blind.



e When the blind lead the blind, both shall fall into the ditch.
e Think twice before you speak.

Correct Answer :-Think twice before you speak.

4)

Question Stimulus :-

DIRECTIONS: A sentence with an underlined word is given below. Find the word which is opposite to the
highlighted word from the given options.

Stewart asked me to lend him my car.
® repair
® give
e buy
e borrow
Correct Answer :-borrow
S)
Question Stimulus :-
Fill in the blank with the word given in the bracket along with the correct prefix out of the given four options.
If you're  (satisfied) with the service, why don't you complain to the hotel manager?
e in
e pre
® un
o dis
Correct Answer :-dis
6)
Question Stimulus :-
Out of the four options given below, choose the one with the correct meaning of the idiom.
“Burn the midnight oil”
e To do daring things at night
e To study only in the light of the lamp
e To pour extra oil in the lamp
e Staying awake in the night either studying, reading or working

Correct Answer :-Staying awake in the night either studying, reading or working



7
Question Stimulus :-
Two sentences are given below. Choose the correct conjunction to join the given sentences.
I enjoyed her new book.
It's not quite as good as her last one.
e though
e and
e as
o asif
Correct Answer :-though
8)
Question Stimulus :-
Out of the given options, choose the one which is the correct indirect speech of the sentence given below.
The teacher said to Janet, “work regularly.”
e The teacher advised Janet to work regularly.
e The teacher ordered Janet that she should be working regularly.
e The teacher pleaded Janet to work regularly.
e The teacher warned Janet to be working regularly.
Correct Answer :-The teacher advised Janet to work regularly.
9)
Question Stimulus :-

DIRECTIONS: Given below are four sentences with an incorrect order. Arrange them in a meaningful order
to form a coherent whole.

P. Ozone is a colourless gas which is found in the stratosphere of our upper atmosphere.
Q. It is also one of the prime reasons which are leading to global warming.
R. The layer of ozone gas protects us from the harmful ultraviolet radiations of the sun.
S. Ozone layer depletion is one of the most serious problems faced by our planet earth.
e QPRS
e RPQS
e PSRQ

e SQPR



Correct Answer :-SQPR
10)
Question Stimulus :-
Out of the four sentences given below, choose the one which is grammatically incorrect.
e Do you think Australia is a more democratic country than Britain?
¢ Fresh vegetables are better to you than canned ones.
e It's much better to have a small, cosy room than a big, cold one.
e It is one of the most exciting books that I have ever read.
Correct Answer :-Fresh vegetables are better to you than canned ones.
11)
Question Stimulus :-
Out of the given four words one is spelt incorrectly. Find the word that is incorrectly spelt
e anounce
e pronounce
® recite
e exhibit
Correct Answer :-anounce
12)
Question Stimulus :-
Out of the given options, choose the one which is the correct passive voice of the sentence given below.
All trust an honest man.
e An honest man was trusted by all.
e An honest man is trusted by all.
e An honest man should be trusted by all.
e An honest man can be trusted by all.
Correct Answer :-An honest man is trusted by all.
13)
Question Stimulus :-

DIRECTIONS: Two sentences are given below with a blank in each. Fill in the blanks with a pair of suitable
words from the four options for each blank respectively:

Queen Victoria over Britain from 1837 to 1901.



It heavily last night
e reigned, rained
e rained, reigned
e rained, rained
e reigned, reigned
Correct Answer :-reigned, rained
14)
Question Stimulus :-
Fill in the blank with the correct word from the options given below.
India is a member of the security
e counsels
e counselling
e council
e counsel
Correct Answer :-council
15)
Question Stimulus :-
Choose a word that can be replaced for the given sentence.
“The scientific study of the sun, the moon, the stars etc”
e Astronomy
e Palmistry
e Anthropology
e Horoscope
Correct Answer :-Astronomy
16)

Question Stimulus :-

Out of the given options which best expresses the meaning of the given proverb?

"Don't count your chickens before they hatch."

e If you keep hens then there is no need to see how many chickens are hatched each day

e Don't make plans based on predicted results that haven't occurred yet.

e If we count the hatched chickens then their number decreases



¢ Do not sell all the chickens that are hatched at a time
Correct Answer :-Don't make plans based on predicted results that haven't occurred yet.
17)
Question Stimulus :-

DIRECTIONS: A sentence with an underlined phrasal verb is given below. Out of the four options, choose the
one which can be substituted for the given phrasal Verb.

The criminals got away after Killing three men.
e Escaped
e Arrested
e Killed
e Imprisoned

Correct Answer :-Escaped

Topic:- General Hindi
1))

Question Stimulus :-
T g BT TG BHoTE-
« W
« TSI
. 3ER
. @
Correct Answer :-§d
2)
Question Stimulus :-
o ¥ ¥ 371 9ae -
g gog 1 Sifira #eT Harg ure fau-4RT |
ey, feffa- 3, g1 g T ga ST Il
o BIVIRH
. IR
. A5

o P



Correct Answer :-P2U0I 7Y
3)
Question Stimulus :-
fore 2redl A @ Suwt e wreg B AT B2
o TYA
o SYTHTT
o YA
. gN
Correct Answer :-dg-
4)

Question Stimulus :-

o fafa 6 ot & wuw 9 sifow fAfda 8, v ot SR w0 o wafRa Fifme-
01- 31 # WMfere
g- YT BTd | g1 W¥pd HTST A
Y- Twar ft urft et g 1
- AP Bt FoIgd fHar @ |
- WRd # 9t yd & A ara
06- TRER U YT ATEA ¢ |
. gIAT
. ¥YTA
. ¥TAY
. ¥IWAY
Correct Answer :X T T A
S)
Question Stimulus :-
IR & G T BT TG DIToTL-
o ST HEIGT AT & 60 TH
. & q1g Wt iE) e
o 3T Rigra wred T8 B THI B |



. B 3R @
Correct Answer :-3{SH&T HEIGA TS & 60 T
6)
Question Stimulus :-
Frafafead o & srquf geray #1 got Fifcme-
“ga- ga-t A 919 Bl AB fad................ »
. T ad fFreTa
o T UgTS a1 fear
o T 1S g1 fear
o &1 firer & fora
Correct Answer :-®T dTS a1 f&ar
7)
Question Stimulus :-
e & 39 a1 JdeR 32
“STerdT g g SHa=-ua”
o« JUHT AP
o FTUPD AADPR
o JHD ATPR
« SWRIe § | BIg A6l
Correct Answer :-3U® DR
8)
Question Stimulus :-
3 TR BT I DIoTe-
. H IS HgHAAT A RRA§
. 3D YTV TQE I MY
. G TS 9gd Tl ¢
s FAWR DI BRI UT
Correct Answer :-H+ o @I BT af YT

9)



Question Stimulus :-
‘3T HT UYTIQTH g G-

. ifé

. &

« Y

- WE
Correct Answer :-HY
10)
Question Stimulus :-
IS § A 8-

o dgey

. PHURY

- §8

- f&
Correct Answer :-®HYURY
11)
Question Stimulus :-
o B wfY ?-

o TUTTAR

. gE R

o dHwR

o JUI IR
Correct Answer :-gU[ ¥dX
12)

Question Stimulus :-

ra & I a1 &1 T4 Fifer-



o UEIHEE
Correct Answer ;-G
13)

Question Stimulus :-

3TeHY ) T & BTH TR YT ST, 0T URyH $iad ST AR | vfan 0 2, ok qu @«
wfaa R ) fibes & 8, ARt N Fd A S iR P Re F FH dN A & | s Rg A
ot +ft w7 A Rifes: 78) frent | ug@ T o1 B, fibr v, i AR s e ae s @R
BB | 5 O 9 YR 3§ T |

. o Ferfe qodwfa urg
. T A1% 99 9 99 18 99 A
o fom ot oY e =) ford = ofvm
. SR H A PIg 81
Correct Answer :-Udb AT¢ T4 Y 99 14 99 914G
14)
Question Stimulus :-
A dfeat | & o1 7= Fifo-
« fen-am Sew fom T, 38 g urd &1 |
=1 game 1 fret, 4t v &t 9= 07
. qlE
. WS
. ARSI
. @
Correct Answer :-GIgT
15)

Question Stimulus :-
. g ars
o AYad I
o HIYRUT TR

- T BIE TR



Correct Answer :-HTHRUT AT

16)

Question Stimulus :-

AT # ggd ugane-
-

Correct Answer :-SHI
17)

Question Stimulus :-

U g P qUIT BT SHRY VM §:

Correct Answer :-GﬁW

Topic:- General Maths
1))

Question Stimulus :-

Two pipes can fill a cistern in 3 hours and 3 hours 45 minutes respectively and a third pipe can empty the
whole cistern in an hour. The cistern is half filled with water and all the three pipes are opened together. The
time after which the cistern will be emptied, is:/ﬁtﬂsﬂ @éﬂﬂﬂﬁm: 3 °e 3i¥ 3 " 45 e A Wm%
3R FRIRT U3y T ) ) U e W Tl R apar g | St ameft udt g% B SR fi vty v Wy arg e e e E |
95 9wy foreaH ot @t gt s, &

45 minutes/45 fia=e

1 hour 15 minutes/1 °eT 15 e

1 hour 30 minutes/1 °eT 30 e

1 hour 45 minutes/1 2T 45 fie

Correct Answer :-1 hour 15 minutes/1 9T 15 fiFe

2)



Question Stimulus :-

The difference of compound interest and simple interest on a sum at the rate of 6% for two years is 336, then

what will be the sum?/af¢ T Y-RIRIUR 6% aA® o= 3l 9¢ & Tehgfex a1 MR JTURYT 1o H 3R 336 7, A1 98
YRR et gt
« ¥10,000
* 12,000
» ¥15,000
« 9,000
Correct Answer :-%10,000
3)
Question Stimulus :-

A train, 110 meter long, is running at a speed of 60 kmph. How many seconds does it take to
cross another train, 170 meter long, standing on parallel track?/110 . dat aT-[ 60 fepHiree
@t T I T I B 1 S AHIGR U4 R TSI 170 Wi, el g ¢ B UR FeA A fhad Awvs a1
TG T2

e 15.6

« 16.8

e 17.2

e 18
Correct Answer :-16.8
4)
Question Stimulus :-

Two persons A and B started from two different places towards each other. If the ratio of
their speeds be 3: 5, then what is the ratio of distance covered by A and B respectively till

the pointofmeeting?/ﬁW%AGﬁ?B@ﬁ-ﬁ@ﬂ*ﬁﬁwgﬂ%aﬁéﬁ?mmaﬂﬁﬁl
afe It Tfaral T U 3: 53, A AT B GRTHHN: fAeA & R a9 tgaq § a9 o1 18 gt
BT TUTd FIT §RIT?

e 1:2

e 3:4

e 3:5

e 5:3
Correct Answer :-3:5
S)

Question Stimulus :-



The harmonic mean of 2, 3,4 and 5 is:/ 2,3, 4 3R 5 BT eIHD HIY EﬁTIT-

308
e 61

248

o« /7

240
309

240

Correct Answer :- 77
6)
Question Stimulus :-

In how many ways five chocolates can be chosen from an unlimited number of Cadbury,

Five-star, and Perk chocolates?/ 37_&'»3'&, BIgd IR, 3R P dipde &I RAfa T d
fraq TP A 5 Tipae] I g1 o JHdT 82

o 81

° 243

o« 21

o 31
Correct Answer :-243
7
Question Stimulus :-

What should come in place of the question mark (?) in the following questions? | Frrafafaa uy &
UHATaP 6 (?) & RITH W T T2

242 — 132 +?2_j
19 o

o 18
e 24
o 22
o 21

Correct Answer :-24

8)



Question Stimulus :-

The percent profit made when an article is sold for ¥56 is thrice as when it is sold for ¥42.
The cost price of the article is:/U® d¥q P 256 § 99 WX gl Afa=Td @Y, 242 § 994 R g
T WFARTd 1Y BT <N AT ] | g BT 99T IeI &

o T28

e T49

o T25

o ¥35
Correct Answer :-¥35
9)
Question Stimulus :-

If 6 girls can embroider a dress in 9 days, then the number of days taken by 3 girls for the

same work will be: /Afe 6 ASHAT TP TIPS P! FeS 9 e A BT IPd & o 3 ASfHAl & gRT
U 1 HA # ford 1 fa=) &Y Tem gl

e 14
e 18
e 20
e 15
Correct Answer :-18
10)
Question Stimulus :-
Find out the wrong term in the given series: | & §€ Juft # e UG J1d e
2,6,16, 38, 84, 176, 368
e 6
e 16
e 38
e 176
Correct Answer :-176
11)
Question Stimulus :-

35783 is divided among Sherry, Berry and Cherry in such a way that if 328, ¥I37 and 18 be deducted from
their respective shares, they have money in the ratio 4 : 6 : 9. Sherry’s share is: / Sa'\ﬁ, I MR A F A 5783



39 UK fauTiora f5a ma § o afe 397% fowl & & an: 228, 337 3ii¥ 318 9er 9 1 S-1o! IRl &7 3uTd 4 :
6 : 9 B ST | N HTIIEATR:

o 1256

o T1228

e 1450

 ¥1084
Correct Answer :-31228
12)

Question Stimulus :-

1
A man’s age is 125% of what it was 10 years ago, but 833% of what it will be after 10 years.

His present age is: /Wﬁﬁmmwaﬁmaﬂmaﬂ 125% %,%WW
qY 91¢ BT AT BT 832% , @ IHP! T 3T 8:
e 48
e 49
e 51
e 50
Correct Answer :-50
13)

Question Stimulus :-

What will come in place of Question mark (?) in the following number series? | fFafataa
ST WOITE! § UHaras =g (?) & I U= T STA?

13, 41, 85, 145, (?)
° 484
o 474
o 221
o 281
Correct Answer :-221
14)
Question Stimulus :-

The ratio between the length and breadth of a rectangular park is 3 : 2. If a man cycling
along the boundary of the park at the speed of 12 kmph completes one round in 8 minutes,

then the area of the park (in sq.metre) is:/ T TIATRIR T 3| ?Iﬁﬂ% 3R ilal?il'é' A 3 :



2 BT 3JUTd ¢ | 9f¢ TP e I &1 Jiur w12 fooedt ufar ¢ &) wfa S angfra g 8
e ¥ U IR W1 A a1 8, a9 S $T &awa(at dex #)e:

» 15360

» 153600

» 30720

» 307200
Correct Answer :-153600
15)

Question Stimulus :-

0.342 X 0.684 0.342 X 0.684
The square root of 0.000342 x 0.000171 jg? / 0.000342 x 0.000171 ] aTﬁFI' %’;

« 250

« 2500

« 2000

« 4000
Correct Answer :-2000
16)
Question Stimulus :-

HCF a%d LCM of aZb3¢# and ab*c3 respectively are :/ a2b3c? 3R aSb4c3 F H. T, 3R 4. 9.
PHR:

o a2b3c4, aSpdc3
o a2b3c3, aZb3c4
. a2b3c3, aSbicd
. a5b3c3, adbde3
Correct Answer :-a2b3c3, aSpdc?
17)
Question Stimulus :-

If the average weight of 6 students is 50 kg, average weight of another 2 students is 57 kg,
and average weight of another 2 students is 55 kg, then the average weight of all students

is: / e 6 faemfiaY @1 s YR 50 frn 8, 2 3= faenfay &1 ofd WR 57 @ iR 2 3
faenfaY &1 sid YR 55 fean g 1 ot I+ faenRiay &1 sivaa YR 8:



61 kg/61 foum

51.5 kg/51.5 fam

52.4 kg/52.4 f&ur

51.2 kg/51.2 fum
Correct Answer :-52.4 kg/52.4 f&uT

Topic:- General Computer

)

Question Stimulus :-
How long is an IPv6 address?/ IPv6 &I E%'H gha1 8-

32 bits/32 faca @1

64 bits/64 facH &1

16 bits/16 foeq &1

128 bits/128 faeq &1

Correct Answer :-128 bits/128 ﬁ'c[ﬂ Cdl

2)

Question Stimulus :-

In internet DNS is:/ Rﬁ?ﬁ DMS %:

Data Network System / SICT Aead Rew
Different Name System/ fewie 99 R
Direct Network Systeml@'l's'ﬁﬂf Aead R
Domain Name system / SR AH e

Correct Answer :-Domain Name system / S99 99 Rieq

3)
Question Stimulus :-
USB is:/quds! &:
« Universal sequent Bus/ gf-ada fieqie s

« Universal sequential Bus/ gf-a¥ia fraqeeitae a9
« Universal successive Bus/ qﬁa'd?r TRIRa 99

« Universal serial Bus/ gf-ada Jifvad a1



Correct Answer :-Universal serial Bus/ gf-iadd Jifvad a9
4)
Question Stimulus :-

How will you display the favorites menu using shortcut key in MS Word?/TH T CER: RIS
P B BT YU X b Pave HI $A UehRfd H?

« Alt+0O

e Alt+F

e Ctrl+ O

o Ctrl+F
Correct Answer :-Alt + O
S)
Question Stimulus :-
Thrashing-/ ART-

 is a natural consequence of virtual memory systems/ Y& aﬁam ARRT Ry &1
w@ryTfa® ufvoma g

e can always be avoided by swapping/ P Wit & aIRT Eﬁ'QIT AHT ST bl %
o always occurs on large computers/ Bﬁ'ﬂT a% W R tl'l's: iG] %
e can be caused by poor paging algorithms/ ¥RTd UFSHT SN & §RT S 8 gl

g
Correct Answer :-always occurs on large computers/ B'I?FEIT a% W R 1TI'I's‘: iG] %
6)
Question Stimulus :-
What is the full form of ASCII:/ ASCIl &T YRT ATH %:

« American Standard Code for Inked Information/ 3AY&T RUSS IS BT 33%’

SABTHR

« American Standard Code for Information Inked/ 3R R USS B8 BIX ET-I'WI'&QF[
EES

e American Standard Code for Information Interchange/ MNP RUSS BIs BIR

SIBTHRA Se3del

e Asian Standard Code for Information Interchange/ Qﬁl’l'F-r RWUSS HIs BR squ?rl?rm'—r



Correct Answer :-American Standard Code for Information Interchange/ MARP Rss Bis
B} STBEHIM gevdo
7)

Question Stimulus :-

LCD is:/ TatSl §:

« Liquified Crystal Display/fRif®wiss foheea fava

e Liquid Cryptotis Displaylﬁl‘fﬁ-‘i Paucifed fva

e Liquid Crystal Displaymmm

e Liquid Crypto Displaymwm
Correct Answer :-Liquid Crystal Displaym e fewa
8)

Question Stimulus :-

Which one of the following is not the feature of internet?/ g & # Eﬁ? 71 faviy
o7 181 82

e News group/=gsl YUa
. Designingl‘%ﬁ'l%ﬁ'ﬂ
« E-mail/§-Ad
« Chatre
Correct Answer :-Designingf%ﬁ'l'{ﬁ'ﬂ
9)
Question Stimulus :-
Which is not a font style?/ g A P Udh Bi<e L E) T-Iﬁ%‘?
. Bold/ §its
. SuperscriptlﬁlT\’%FE
. ltalic/ Sefere
e Regular/ W
Correct Answer :-Superscript/ Jux %’“E’
10)

Question Stimulus :-

Bug means-/ 91  aread -



e Logical error in a program/ e o U GIEZ 3 31%
 Difficult syntax error in a program/ oo o Udh S T HH 'a’ﬁ

* Documenting programs using an efficient documentation tool/ ww&mﬁwﬂ%m;a
St STFGATET TmH | U § 31T 8

« All of the above/ SURIad Tt
Correct Answer :-Logical error in a program/ Ny o Udh GG aﬁ'
11)
Question Stimulus :-

Which one of the following medium is portable and inexpensive but has its own limitations

in term of storage capacity and speed? | g & | ST ATeHH N ad iR [T % KIGE]
WIS 3R Tfts & T | @ Ut Fir g2

Hard disk/gTS f&%®
Compact disk/@Hiae {33
Optical disk/3ITP®d fETh
Floppy disk/TdTul f&<®

Correct Answer :-Floppy disk/TITdt f&h

12)
Question Stimulus :-

If a computer provides database services to other, then it will be known as:/ gfe Udh W
frft 3y HgeR o1 ST AT USH FHdl § 99 9 Hedrdl o:

« Web server/ 9§ Hax

o Application server/ Q‘Gﬁaﬂﬁw

« Database server/ STeT 99 Hdx

e FTP server/Ulp Ad R
Correct Answer :-Database server/ STeT 89 Hav
13)
Question Stimulus :-

The algorithm in which we allocate memory to each process according to its size is known

as:/ F9 o fra Sramfyyd & Wik &) SUS! A1 & AR AT STafed 3 Tt 8-
« Proportional allocation algorithm/TUIRId ATHRIT AERYHA



» Equal allocation algorithm/ge& ¢l AP AETRYA

» Split allocation algorithm/ e e iy

« None of the above/ SIRIGT H | ﬁs‘ T-I'E!’f
Correct Answer :-Proportional allocation algorithqu'lﬂw AP AAENRYA
14)
Question Stimulus :-

Verificati%on of a login name and password is known as: (AT 919 3R U9 S &1 a1
hedldl &-

Configuration/ B1RPIRIH
Accessibility/ TaaTRifaferdt

Authentication/ 3iidfedp =

Logging in/ AT E5l
Correct Answer :-Authentication/ 3Tafeha=

15)

Question Stimulus :-
What is meaning of FORTRAN?/WIC - HgdTdl 8-

e Formula trainfCI'TI'liFlT a?

« Formula translation/WBTHdT iTa=
e Formula train networqu"TI'li?lTa?ﬁEﬂ*

e Formula translation networkaI'TI'l{?lT g‘mﬁmq dedd
Correct Answer :-Formula translation/BT@T SRIARI

Topic:- General Aptitude
1))

Question Stimulus :-

Rohan is 7t to the left of Akshay in a row of boys. Vijay, who is 20 from the left end of the
row is 7t to the right of Akshay. If Geet who is 3" to the right of Rohan is 20" from the right
end of the row, how many boys are there in the row?/ asaﬁaﬁw tl'%lﬁ ﬂﬁ H&N%ETE
Y TS W W 21 9, S U & 910 BR Q S99 W W 2, 98 348 a1 & s wu
W 21 Tfe M, St A F aTE & T VI W 2, 98 Uie P &Y SR G d6d =E W E, @t

e § oot fraa ad &7

* 26
« 30



o 28

e Cannot be determined/3ITd T-Iﬁﬁ"m Sl b dl
Correct Answer :-28
2)
Question Stimulus :-

At what time between 8’0 clock and 9’ O clock will the hand of the clock be together?/ 8 ol
¥ 9 g & U US! Bl Y4l (g GG TH 1Y g2

7 7

42! minutes past 8/8 TSTHY 4211 A W)

7 7

43! minutes past 8/8 doldh 4311 e W

7 7

40! minutes past 8/8 dSIh 4011 e W

7 7

41 minutes past 8/8 I9THY 4111 fFe W)

7 7

Correct Answer :-4311 minutes past 8/8 doldh 4311 e W
3)
Question Stimulus :-

DIRECTIONS: In each of the following questions, choose the set of numbers out of the four

options that is similar to the given set. fﬁl%f-‘!T: WWWWﬁWﬁWﬁﬁW
RT3 & TG BT 999 B« ol fAT 1T IYg & G &1 |

(12, 5, 7)

e (7,3,4)

* (18,12, 16)

e (29, 18, 22)

e (25,12, 16)
Correct Answer :-(7, 3, 4)
1)

Question Stimulus :-

In a certain code 'BROADEN' is written as 'NQABOFE'. How is 'DESKTOP' written in that
code? /fadt fAf¥a e W 'BROADEN' &t 'NQABOFE!' ferat wirar 31 3%t e # 'DESKTOP' HY
g yoR fo@m?

« RDCLQPU
« TFELQPU



- RDCJQPU

o« EFTLONS
Correct Answer :-RDCLQPU
S)
Question Stimulus :-

DIRECTIONS: These questions are based on continuous alphabet type, a letter series is
given which has some blanks, find the alternatives that complete the series./ﬁ%ﬂ =

%mavﬁﬁ,wa&ngm%ﬁﬁﬁquwﬁmaamﬁ% | Tgt faweq &1 Ta+
|

ba-b-a--ba-b
» ababa
e baabb
e abaab
e bbaab
Correct Answer :-ababa
6)
Question Stimulus :-

How many circles are there in the following figure?/ = & 11'5‘ s?rﬂ?ﬁf A fraa qd %'?

Correct Answer :-13
7
Question Stimulus :-

A woman said to a man, “The daughter of your only sister is the sister of my husband’.
What is the relation of man’s sister to the woman?/U& 'FI'%?IT G| TP a9 3 bl “3TqepY
ghdldl 98 P 38 W Ufd B 9849 87 | 39 B 989 BT AR &b 1Y T &Y 32



Mother/ T

Mother-in-law/dTd
Data inadequate/aﬁ'ﬂﬁl}' 3y
None of thesel?f-l’l?r' I Hﬁé T-I'sﬁ

Correct Answer :-Mother-in-law/HTH

8)

Question Stimulus :-

DIRECTIONS: In the question, relationship between different elements is shown in the Statements.
These Statements are followed by two Conclusions. Read the conclusions based on the statements
carefully and choose the certain answer from the given options.lﬁljcf-‘\’r: ﬂ%%qwuer H, HYI | 23]
3audl & dHg § T ST T | FYAL & 916 fopd fau e § | Fu=l R smurfed fAesuf &t
ATIYAP ufet 3R fod T & | ver fAfya S &1 s sifv |

Statements:/®Y:
O>P>Q,R>S>T,R>Q
Conclusions:/frsh:
I. S>Q
II. T>P
 If only Conclusion | follows/afe Fae fasad | ST HRdT ?
« If only Conclusion Il follows/af¢ Fad sy Il ST HIdT ?
« If neither Conclusion I nor Il follows/afe = dt frepd 1 11 ST BT %
« If both Conclusions | and Il followrafe gl fAspd GI'-;NTUTW%
Correct Answer :-If neither Conclusion I nor Il follows/afe 5 @t fAswd 177 11 ST HIdT ?
9)
Question Stimulus :-
DIRECTIONS: In the question below, there are few statements followed by few conclusions.

You have to take the given statements to be true even if they seem to be at variance with
commonly known facts and then decide which of the given conclusion logically follow(s)

from the given statements./fAa=T: 9 3T ¢ U= & 0 Fu 3R ITF 91 o Fwwd
e & | 3Tuh AT e A SU= ) I A1 8 HA 81 3 Id3d au | i udla gl 8l |
Tt frswut 1 ufew fbr au Fifse P fRE e fAreeul & ¥ Hi9 J1 aHTTd 3 F IR0 Sl
2, IR WdTd dam oo W |

Statements:/HY-:
Some chairs are desks./[PS Tﬁh’[, S I
All rooms are desks./[dH} Hﬁﬁ', 3@% |



All windows are rooms./aHt W, Eb_lﬁ% |
Conclusions:/frsw:
I. All windows are desks./ A4} @S'w, P % |
Il. Some desks are rooms./[$® @W, w% |
e If only Conclusion I foIIowsRTﬁ Had frspd | ST BT %
e If only Conclusion Il foIIowsNﬁaﬁ'ﬁW Il mm%
« If neither Conclusion I nor Il follows/af¢ =1 frswe 1 T 11 WW%
e If both Conclusions | and Il foIIowIﬂﬁﬁ*ﬁﬁWﬁf GI'-;RITUTW%
Correct Answer :-If both Conclusions | and Il follow/afe g+l forsa mw g
10)
Question Stimulus :-

A cube of edge 8 cm is painted blue from all its faces. It is cut into small cubes of surface
area 24 cm?2. How many such cubes shall have two faces painted?/Ud 8 Tt Yt & g9 Bl

A el TR W AT | R g 24 A2 gty 8Aed & ftrean B¢ uHl | Hrer w1 B
T A @ fbam o < v H g
. 96
. 24
. 48
. 12
Correct Answer :-24
11)

Question Stimulus :-

DIRECTIONS: Arrange the following words according to the English Dictionary.fﬁﬁf‘\’l: 3Tt
AP & IR, =1 gl B IRy He:

(A) gargle (B) garden (C) garbo (D) garnish (E) garland
* (B), (C), (D), (A), (E)
* (C), (B), (A), (E), (D)
* (C), (B), (D), (E), (A)
* (D), (C), (B), (A), (E)
Correct Answer :-(C), (B), (A), (E), (D)

12)



Question Stimulus :-

What will come in place of question (?) mark in the following series?/f=T 9ol & yRHaRIS
e (?) & RIF W o1 3MEm?

DHL, PTX, BFJ, (?)
« CGK
« KOS
e NRV
e RVZ
Correct Answer :-NRV
13)
Question Stimulus :-

Rana travels 10 km North, turns left and then travels 4 km and then turns right and covers
another 5 km, he then turns to right-hand side and travels another 4 km. How far is he from

the point of starting of his journey?RTUIT 10 ﬁﬂﬂﬁ?ﬁsﬁTqﬁTW% Eﬁm%aﬁ?

¥ 4 foit Y 9= FRa1 § SR by a8 g1 @ ok 5 et 3t gt aa Fxa1 3, 39S 91g 7%

%ﬁﬁgaﬂwm%&ﬁuﬁﬁwmé | 391t ITAT & YRS R § 98 foa-il
W g?

e 5km

e 4km

e 15 km

e 10 km
Correct Answer :-15 km
14)
Question Stimulus :-

At a certain film festival, eight films will be shown J, K, L, M, N, P, Q, and R. The order of the
showings must meet the following conditions/f&<t ﬁﬁ?ﬂ'ﬂﬂﬁ'&' H 3ms fbed JK L MN,P,
Q 94T R fears it | fvew feam &1 v 7 8-

N is shown immediately before L / N, L & g3d Ugd fe@Tg s
J is shown third/ J TR ¥ W fears 18
Q is shown fifth/ Q UTId WIF IR fe@rs 18

If N is shown immediately after P, then P could be shown?/3TfR N, P %gﬁamﬁw@%‘a‘r
P HF A WM W fe@rs 152

e Third/dRRY
. Fourthliﬁﬁ



- Fifth/aiad

. Sixth/53d
Correct Answer :-Sixth/&&d
15)
Question Stimulus :-

One morning after sunrise, Reeta and Kavita were talking to each other face to face at Tilak
Square. If Kavita’s shadow was exactly to the right of Reeta, which direction Kavita was

facing?/U® a8 JaIed & UYTd, a1 3R Hfadr faaes IR1e W U gy @1 3R & o
3o § a1d &7 B! AY | afe wfaar @ worE a1 $ e e iR g, Y sfaar few famm
ot AR g@ fHa gue?

e North/3<¥
. SouthIEfEI'UT

. Eastfqﬂ'
e Data inadequate/&ﬁ% g

Correct Answer :-North/3<I¥
16)
Question Stimulus :-

DIRECTIONS: In the question below, there are few statements followed by few conclusions.
You have to take the given statements to be true even if they seem to be at variance with
commonly known facts and then decide which of the given conclusion logically follow(s)

from the given statements./fIGT: ﬁ%%qwmﬁwawaﬁ?mmwﬁmﬁ

T § | MU 3T e i SU= ) I 91941 § HA 1 3 Id3d a9 = udla gl 8t |
Tt frewut o1 ufew b au Fifore % RE e fFrepul A F i J1 dHETd 3U A SR Hdl
2, 9% Wdyd aa po Wl |

Statements:/®Y:

Some cars are wheels./[$D DR, u1%1z % |

All wheels are branches./ A4} tl'%({, STW'% |

Some branches are tins./®® S'Iﬁ‘l'qsf, g

Conclusions:/ fTsp:

l. Some cars are branches./[$® PR, STI%'ITIT% |

Il. Some tins are branches./[$9 ﬁT-I, S'Iﬁﬂ}f% |
e If only Conclusion I foIIowsI'CIﬁ Had frspd | ST HRdT %
« If only Conclusion Il follows/af¢ Fad sy 1| ST HdT g



« If neither Conclusion I nor Il follows/afe =1 fArswe 1 T 11 Glﬂ'\‘ITUTaR_cIT%

« If both Conclusions | and Il followrafe gl fspd GI':I,'\‘ITUTW%
Correct Answer :-If both Conclusions | and Il follow/afe & fAsat GIWTW g
17)
Question Stimulus :-

If 29th April 2013 is Monday then what is the day on 30" November 2013?/4fg 29 3 2013
®! WHGR g ) 30 TdaR 2013 Y I A 37 g2

e Satu rdayl'-‘l]'feIT:IT'\r

e ThursdayRJ®¥dIR
« Tuesday/HITdR

. Monday@'ﬂﬂﬂ'

Correct Answer :-Saturdayfﬂﬁaﬂ



